Math 33A - Lectures 3 and 4 | e
Fall 2018 pov d
Midterm 1 =igh] e

Instructions: You have 60 minutes to complete this exam. There
worth a total of 50 points. This test is closed book and closed notes. No

\ For full credit show all of your work legibly. Unless instructed otherwise, you ne
. tify your answers. Please write your solutions in the space below t
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[5pts.] Find a nonzero matrix A such that AZ is perpendicular to the vector 7 = [1}
i 1
for every # € R®. [You do not need to justify how you found A, but you do pee
.uhaw that your choice of A satisfies the prescn condltlon : ieed







oonxlnua from the previous page. Recaﬂthati‘ﬂ‘,ﬁ‘;,ﬁ,and&axe
estion (b), and V = {# € R* such that 7 = 7 - j}.
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Let T : R® — R? be the reflection
ummtathutmdudbmofm
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across the plane P. Find the matrix of




